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Q1 | The following arithmetic operation is true in at least one%um%er CO-1 1

system. Find the base (b) of that number system: MQ;’
(243)p+(132)5=(405)p 4 &y

Q2 | Convert (C9F)¢ into octal equivalent, 2’s compl_ *ﬁ-format, and | CO-1 i}

gray code.

Q3 | Represent (m {3.14159}) into [EEE smgle-p);géigégﬁ format CO-1 2.5

Q4 | The code-word (0111001) was obtained,usin- Hamming code and | CO-1 18
transmitted through a noisy channel. Deche message assuming
that a single bit error has occurred,j it “Find out the eror location
and write the corrected code-wordithe cafter.

Q5 | What will be the equivalent exﬁ%&q n of the following operatlon CO-1 |
SALO B
Q6 | Reduce the followmg Mean expressions using the Boolean | CO-2 3
Algebra: o
i) F =B’CiD+ C+D) +B’C’'D’E
ii) A’I§’tt»’+A BC’+AB’C’+ABC’

iif) HJ’(*ABC) (A+B+CY’
iv) IaarAB%[Amc (BCHAC)]

Q7 | Write, dbml “the minimized expression by solving the following | CO-2 | 2.5+1.5=4
expregﬁgn using K-map and implement the minimized expression

us‘ing AOI logic and universal gates:
£=ym (0, 1,4,5,6,7,9, 11, 15) + d(10,14)
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